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e FFTST?
R oy e i oft B i s e 270 R o sy &, o s s v o i e

D) 9& o
(A) Jacafam (B) =faqor D (C) ufzm - mfaf:ing \,:;est at the beginning ?
Which direction are you facing now, if you turn 270 degrees clockwise fro 5 D

(A) North-West (B) South (C) West

- ¥ 5
2. T IS W‘ﬁﬁaﬂtaam%.ﬁt%iﬂsm%aﬂt 10 tiex =rerar 2, st Srem st wear & 3K 15 e
aam%uaawmﬁgﬁ%maﬁ? ?"3
(A) 20#iX ] (B) 18X
(C) 154X = (D) 10T ' o
A person walks 15 meters east, then s left and walks 10 meters, then tums left again an
15 meters. How far is he from the starting point ?

(A) 20 meters (B) 18 meters
(C) 15 meters (D) 10 meters
3.  fafafea od HT&-.@ e Fmifera
(riferer 3nafefit 3 &) w7 Ryeor ot &

iR aTvreft = g5 O

e <

R @

| 10%

The following pie charts represent the disfribution of candidates who were enrolled for an exam and the
candidates (out of those enrolled) who p assed the exam in different institutes :

CANDIDATES ENROLLED = 85509 S~ CANDIDATES WHO PASSED THE EXAM = 5700
P

P T and R combined is :
the total number of candidates enrolled from 1nst1tute(5C) 0 00 O3
(A) 400 ' @ 40 )

(A) 400 (B) 440 (g: (© 300 (D) 399

]

@&L1C

-----




et e i g T
Fo 1 3 A g ¢ | . '
FUT 2 e o o A 99
fremd . 3w e Qe Qe £

S e e ———— L
(A) T T fred e T © B) S 1y fored fifera & et 2
(C) et v fe fafae 0 4 7T € (D) e P o e w7 e

Read the statements and select the correct alternativ
Statemeny | . Tray plays table tennis. "
Statement > . Table tennis is a difficult game| ]
Conclusiop, - Tray plays a difficult game.
From the aboye statements, we can conclude that-
(A) The conclusion stated is probably false tlgi
(C) The conclusion stated is definitely false {)

e & ereh oy @ 30

© regarding the conclusion.

(B) The conclusion stated is definitely true
(D) No conclusion can be reached

0
(&) Fror (B) T @ © w (D) =i
Which of the following shapes is different from the rest ?
(A) Triangle (B) Sphere (©) Circle

(D) Square

@ B 2w § o ‘SCRABBLE’ &' 19318122125 & w0 & seag frar '
g i ST 8, | 3t g

‘smb’aﬁ%qmm%mm? M o

In a certain coded language, if ‘SCRABBLE’ is < ‘ :
] ) €oded as ‘19318122125° ‘STUN ,
In that language 9 3) 22125", how will *ST NED” be coded

A) 1
) 192021141545 ®) 192022141454 g (© 192021141454 (p 192020141545

T TR S ST ST e e sy, e ) e :

e T ‘aa[jg,:raaw D R A AR Frfem =1 so wfeer
G0 w5 @ (B) vt

© e (D) =uf

Pointing at a woman, Nirmala said,
is Nirmala related to the woman ?

.” How
(A) Sister [:] oy G
(C) Paternal Aunt EL% (D) Mother
What is the next letter ? F:;}]
P:Q: Ty ':d
(A) R (B) P ® o T



ﬁmawmwﬁmﬁmmm U Tl & -

9. : D) &al }:T
() @EE B) fd (©) Scdid (D)
Curtains are related to fabric in the same way as blinds are related to : .
(A) Slats (B) Lifters (C) Cords (D) Cove

10 T 1 T WT-ETS 8, FH A R Hag R ﬁ
(A) WE-GEUH B) T © e @ (D) arsTt
Soap is related to Clean in the same Way as Perfumeg_‘s‘; related to :
(A) Neat (B) Smell (C) Smart (D) Freshness

11, aft s e 7 o e FH T & S 180 g g e g 8, A o o P R ot o e
tc A £

(A) S (B) IHE (€) forafim (D) Ie-afem
If you start facing South-West and turn 180 degrees ‘iﬁyom right, what direction are you facing now ?
(A) South-East (B) North-East G(b) South-West (D) North-West

12. 140 foenfeiat & weteror o qran 1 16 60 foraeff it oy Fem wEE F@ §, 70 Fremff TR W Qe we
FXA 8, 71 75 Terammef S11eeei 19 Wer THe e # | gu it 30 ST FEKR i a1seen 3t Qe vug &,
18 =t <ifal 1w SR STTeeER W AT S GE ¥, 42 1 HfeE 1 S TR W AT et e §, auT 8 Y et
VT h W T § | 3 3 1 ST HE I ST 1 1 HIRAT S el SR A Ao # |

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additiutmlly, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to and the students who play only outdoor games.

(A) 57 (B) 32 ;.J(:C) 35 (D) 64
13.  sj@en 3 qn §EATd (A, B) 1 R 391 B + A 1 wf 31 Hife |

Find the missing numbers (A, B) in the series and ﬁﬁg the value of B + A.

25,36, 49, A, 81, B, 121. E‘

(A) 146 (B) 125 ©) 152 (D) 164
14, 'ﬂﬁp>q=p2+q33ﬁ'{p<q=p3—q2,iﬁ(1 >2)<3=

Ifp>q=p?+q®andp<q=p3 - then(1>2)<3 =

(A) 720 (B) 840 (C) 600 (D) 480
15.  frferien srgshm <6t amdieht & sifer fvr 3 363 1 3 A s a0 9 A

RKS9#B2%*E?A8L$14SV7!C6N@Hj';_13D

VR Fora a7 €, ol & vl & ik veet MM EF TR o 2

Examine the following sequence closely and respond to the question that follows.

RK59#B2%*E?A8LSI4SVTIC6N@H 13D

How many letters are there, each of which is imimediately preceded and immediately followed by 2

symbol ? G

(A) 2 B) 3 (©) o D) 1

---------------------------------------------
T S T T G o g™ g g7 I S T O e e e i



16.

17.

18.

19.

20.

- - e e e e

R e 8 e o g8 T 7 O R s

Given the pattern i ovided combinations, hqy,
by 2 9 s L} Would yoy express the combination represented
Y

_f.
€

AZ3B, CY6D, EX9F, 9 [ |

(A) KXISL (B) NZ"IOO ©) Gwiay (D) 1V15J

a"nﬁ*w@aa‘rﬁﬂz#a%%@ﬂ@m m‘?@“ﬁ“ﬁ“@mmmaﬁﬁo

1,1,9,27,25,125,7 343

A) 49
(A) (B) 37 €) 22 (D) 34

ﬁtﬁ%{%ﬁﬁ%mw%waﬁsﬁmmﬁ ?
Which of the following words has its letter S in an alphabetical order 2
(A) Collops (B) Envelops " ] -~ (©) Bloops

(D) Adrops
ﬁqmaﬁ@wwwﬁﬁqaﬂtﬁm%ﬁawmwﬁﬁm
. i i it s
6 &
113 — fregdm
17\’
A — fafimsm
v =1 < e e safee R 7 0
(A) 31 (B) 22 4 ©) 20 (D) 16

Examine the provided diagram and resiﬁﬁd to the following question

8 Q —> Employed people
6

11 |3
17 \3 7

s .——-> Backv\.ard people

A —> Educated people

How many individuals considered backward are not educated ?
(A) 31 (B) 22 (©) 20 (D) 16

0.05, 0.5, 0.25, 1.25 T 7EwW GHIYES (HCF) gra hif |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A) 125 (B) 0.25 (C) 0.05 D) 05




21.

22,

23,

24,

25.

26.

27.

frogfer 3 ST 3 ST 2
w1 HeE g i @ 4, 6,7, 8 3 9§ A T gil Iaves the remainder 3 in each case.
Find the smallest number which when divided b 4, 6,7, 8 and 9 1€ (D) 504
| 510 o (0 507
Gy s @ @ AR
At 30 2 it AT e 40 T a?ﬁmqﬂ__% S R, then what is the loss percentage ?
If the cost price of 30 tables is equal to the seﬂli;jg price of 40 tables, D) 30%

% 7.5% o) C) 26% .
o o o 3 5 wat ol W Gl § | 39 T8 Y aife
T Fef Fershat s w7 10 8 4 1 A 3 I o avfrs @t € 10 -

20 9RN Ty ST § | ST B AT S wferg g 2 0 )
(A) ?ETETTEWI (B) grﬁgﬁfﬂ?f]Z/ﬂ

19,
(©) Hﬁwﬁmlg% N (D) Wgﬁrml-s—lA

A fruit seller buys some oranges at the rate ofiéfi for ¥ 10 and an equal number more at 5 for ¥ 10, Then he
sells the whole Iot at the rate of 9 for ¥ 20, W[Tﬁi is his loss or gain percentage ?

(A) Noloss or no gain &5 (B) Loss percent 12%
© Loss Bercent 1'1_9' % [(j (D) Gain percent 1E %
81 81

o .
31 ST 3 ST B w11 Ry e M2 SR =17 it o =t 22 & weh fovoror ww 6 % Rqway

of rate ¥ 17/kg.

(A) 2:1 (B) 2:3 _ (C) 3:1 . (D) 1:1
12.5% 31 28 o errafir vt wor & e ke

(A) 20§ (B) 109 "'jjl ©) 129§ (D) 8y
In how much time will an amount be doubled%}!lhe rate of 12.5%, 9

(A) 20 years (B) 10years ‘;‘J} (C) 12 years (D) 8 years

unaﬂaia%?r@ﬁrf‘aamaﬁ1soﬁﬁﬁfm%mzooﬁﬁﬁﬁgmﬁmmﬁso P e
%{m—aﬁvﬁm%mﬂmﬁ@maﬁmmwm%mﬁgﬁmmmﬁ% ﬁ:ﬁ'ﬁ

2 (@3
Indian Railways employed 200 workers to complete a certain work in 150 days. If only one-fourth of the

work had been done in 50 days, then to complete the whole work in time, what is the number of additional
workers to be employed ?

(A) 300 (B) 200 (C) 100 (D) 600

12 T69 3 18 Afeerd uah Fm 10 oAl # 3 B 19 % 3 18 Wit 3w v gy 1 femtt & o e
& 1A 2 G0 okt 3 it o e el o R S, A e R e 8

(A) sofe (B) 60 ©) sofe (D) 70 fx

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same wyi in 12 days.
If2 men and 3 women together do the same work, in how many days will they complete the work 9

(A) 50 days (B) 60 days (C) 80days (D) 70 days

--------------------------
--------
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28.

29.

30.

31

32,

33.

34.

35.

e i 3i 32 VR oy e i et & ofe 3t & A
. 59 fepdfaer A A fegmet

im@,W@ﬁ%mwﬁaﬁwwﬁﬁﬁlﬁﬁﬁmﬁmm%lﬁaﬂﬁr@raﬁaﬁﬁwﬁ

s 3T i

(A) 1247 @) 123 © 1704 (D) 120 .

- km/hyr . in the
Two trains travel in the same direction e ng h Ry Si/hr-and the: faster Hpin i SR "
slower train in 16 seconds. Find the length of the faster train,

(A) 124m (B) 123m ©) 170m (D) 120 m
67n°rata'aﬁ2=rmmﬁwfm?ﬁﬁﬂmﬁwmﬁI?ﬁmssrﬁaéﬁ@zﬁﬁwﬁﬁwﬁﬁﬁm
U T T ST 59 g S

(A) 5.58Fs (B) 4.58FS i( ) 6.7%%s (D) 8.8 ¥&e

A 67 meters long train crosses a tunnel of length 3: eters in 10 seconds. Find the time for the train to
cross a man standing on a platform of length 65 metef§.

(A) 5.5 seconds (B) 4.5 seconds [( ) 6 setonds (D) 8.8 seconds
ﬁﬁaf—rﬁtﬂ?gﬁamz:1%:3433@13&%@5:3%@1313@&@%3&4:1%:aagtrmi‘iaaaaﬂ%r%m&
Frfteret e i 2t =t e frerrere 1T 79 € 10,0003, 91 s oy fers o7 e e |

Nikhil and Reetu eamn in the ratio 2 : 1. They Sp_entﬁ!l the ratio 5 : 3 and save in the r'atio 4 : 1. Find the
monthly income of each, if the total monthly savings,of both Nikhil and Reetu together is T 10,000.

(A) ¥2,000,1,000 (B) ¥8,000,34,000 (0 ¥28,000,% 14,000 (D) % 10,000, % 5,000
@mﬁqmwaﬁaﬁ:ﬁqmmzo%mmia—gsaﬁ%aﬁﬁam%lwmwsﬁ
wﬁmqa#ﬁwso%aikm%,aamaiﬁﬁzomaﬁxamm%la?ﬁv’raﬁ%%qm
BIENGE &)

In an examination, a student who gets 20% of the maximum marks f;

ails by 5 marks. Another student who
scores 30% of the maximum marks, gets 20 rnarlq more than the passing marks. The percentage required
for passing is : .

(A) 22% (B) 20% (Jc) 42% (D) 27%
qmﬁfmm&ma‘raﬁ%%qmaﬁarﬁmnhﬁatl,ﬁoo%l3aéé;aﬁwarqrmﬁ;m
ﬁﬁ%@ﬁwﬁﬁmmﬁﬁm o

; . ; ) :
The simple interest on a certain sum of money for fwo years at 5% is T 1,600. Find the compound interest
at the same rate after 3 years, interest compounded grnually.

(A) %2,555 (B) 2,355 E{C) T2,520

12-02-2022 § 11-02-2023 T 15% YR s frar iy = 73,000 T HTHTOr Sy 2 -

The simple interest on T 73,000 at the rate of 152 per annum from 12-02-2022 to 11-02-2023 is :
(A) T13,450 (B) 14,750 (C) 712,050 (D) 10,950

T 475 3ifeht AR 15% FT TR Y S o P e 9

What is the discount on a pair of shoes marked at € 475 and discounted at 15% ?

(A) T7125 (B) ¥75.25 <o) 70 (D) 72

P TR U g & aifod q59 T 10% St gz 341 & AR T A Y= 0 8% 7 Forsy 0 e 2 | Af
T, fesht % et peer 3 & 1 % 34,020 T e e 2, i e frer 2 0

A shopkeeper allows a discount of 10% on the mj_rlgﬁd price of an item but charges a sales tax of 8% on
the discounted price. If the customer pays 34,0 3’1 s the price including the sales tax, then what is the
marked price ? ®

(A) %39,000 (B) ¥ 38,000 8C) 34,000 (D) %35,000

(D) 2,522

---------------------
--------



36.

37.

38.

39,

40.

41.

42,

aﬁxaﬂ(%(xiﬁ)aﬂmﬂm%jﬁxzaﬁ( ;!2— AT

; | .
If the average of x and % (x #0) is m, then the average of x* and 7 is:

(A) 2m?-1 (B) 2m’+1 (©) 1-3m? (D) 1-2m

fft o ST A STl 1 S 132 8, T Teeft sy sifem Greameit 1 Siat 1 FN |

If the average of 9 consecutive €vVen numbers js 132, find the difference between the first and the last

numbers.
(A) 16 (B) 18 ©) 19 (D) 15
-
et ¥ i fe e & 25%ﬁ§ﬁ&'€?“fﬁ"1mam,@a:ﬁﬁ£ 1,200 % 6 T 1 e wilie areT @ | 9w
a1 wfa fermm s qea o ? <
As a result of 25% hike in the price of rice per kg a pequp is unable to purchase 6 kg more rice for
¥ 1,200. What was the original price of rice per kg ? 5:
(A) %50 (B) T60 (C) T30, (D) T40

aﬁmwwﬁuﬁaﬁmﬁ%@m@?)%aﬁm?@é@@mmmmﬁﬁmﬁ
e (HEH) I H1EAT &, IR ST (-2 5 ST T 2T 2
(A) FgE ) (@) Rl @iee) () veum e (D) s

If you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? .

(A) Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
Fretferad s 3 e wen i weam fif |-}
Identify the incorrect number in the following series. ":'-]
4,7,13,21, 34 ]
(A) 13 (B) 34 ©) 7-?-‘3 D) 21

fe e et & rafier o (wepm) ) s g i - 3

Find out the number of the cubes that are arranged in the figufe given :

)

S
>/ i%
P4
P "
Py 2

A) 18 ®) 17 ©) 24] (D) 16

L i3
RIERIEE U CR L o ) E 78 %, T qEll W S {8 2
If the sum of three consecutive even numbers is 78, what is the second largest number ?
(A) 26 (B) 28 (C) 24 (D) 30

GWZ-24, Page 8 of 24
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43.

o 1 T

Choose the odd one out,

() KL (B) QR Ll © az 0, e

1. TR T T SR i, 2 )
Find the mirror image of the figure, if the mir{t?} is placed at XY.
tfs
X ()
[p]
£
&
Y
]
S 4 ®
]
<
: i
]
s
© 3 (D)
&)
45, a@ﬁrﬁﬁgﬁﬁé@rmﬁﬁm
Find the number of triangles in the figure, []
]
..__?,
i'f.-‘u
o
]
(3
(A) 9 (B) 8 ©) 12 (D) 16
. g - ¥ forg whR
46. Ffyr Wﬁmm@@“ﬁmhﬁﬂ, "GR! | B wf ) gt 9 R | 98 Aie
N <
(A) =& ® & © D other.” How is the
Pointing towards Aneesh, a woman said, “Hjs mother is the only daughter of my mother.
woman related to Aneesh ? Py PO
(A) Sister (B) Daughter (C) MOe .5 - O e
Gwz24, T

Page 9 of 24



[
47. 9@ (1, 2, 3, 4) W—WW@%‘H@H, aﬁn{l amwymmﬁﬁ%raaﬂmagaﬁnﬂﬁm

5

e 3 STet & 7 o6 39 4 o T 3 R e | oy st ¥ 40 T R T8 30 AR 3 awer F 2 Ry

il
e g LI *
SERCIEEE S ] )
(&) 1-30,2- 3, 3 - T, 4 - ¥ @) 1%, 289, 3 W, 4 -

(C) 1-8a,2 a3 - &R, 4 -0 [L ) | — e, 2 — 90, 3~ &N, 4 - 3 |
Four people (1, 2, 3, 4) each pick a different s apple, banana, cherry and date. The person who picked
tl?c agp]e 18 nc.‘u ;0 the person who picked the banana and not next to the person who picked the date. The
person who picked the cherry is next to the person who picked the date.

The correct combination is :

(A) 1 - Cherry, 2 — Banana, 3 - Date, 4 — Apple (B) |- Banana, 2 - Apple, 3 ~ Date, 4 - Cherry

(C) 1-Apple, 2 - Banana, 3 —Date, 4 — Cherry (D) 1-Banana, 2 - Cherry, 3 — Date, 4 — Apple
48, i 5 el Sl () 3 RO T TSt & et syt e s 3

Find out which of the figures can be formed fyomy the pieces given in the first figure (X).

»\]

W Cl

%g

Q

(X) ®
(A) | (B) (©) (D)

49.  STHHH HEATE 1 hifvr |

Find the dissimilar numbers, .
(A) 16,25 (B) 49,81 @) 8,27 (D) 4,9
50, ﬁwﬁfﬁaﬂﬁﬁﬁ?-mm@zw%waﬁ,mmaﬁaﬂt%-ﬁmm%mmﬁm%?

Which of the following diagram/set indicates the relgtél)n between women, mothers and parents ?
E,“'u

()
) @D ® @
0
&
© )
S HIg¥ QU if |
T 4 L L ﬁl@[ 29
) fiw (B) i © (D)

Complete the analogy.
Glove:Hand::Sock:?
(A) Head (B) Am e SR L )

GWZ-24. Page 10 of 24



i |
* Hﬁ?ﬁzgﬁ:mm::m:?
(A) #W (B) &S SET (C) wigsHh (D) W
Complete the analogy.
Astronaut : Spacecraft : : Diver : ?

(A) Car (B) Airplane (C) Submarine (D) Bicycle

53, Q%%ﬁaaﬁmmﬁﬁﬁm%ﬁﬁwwgﬁ;ng@mmmaﬁmm%|q&urrq°raa§arm-m
(FTE-TFI) T HTHR T E 7
(A) g (B) fiwaer (C) Wae (D) I

A cylinder is intersected by a plane inclined at an angle of ‘degrees to its axis. What is the shape of the
resulting cross-section ? '

(A) Ellipse (B)' Hyperbola ©) Pa@ola (D) Circle
““‘\
S4. AL CATHF S DBU R, DOG FFrs 71 2 z
If the code for CAT s DBU, what is the code for DOG ? O]
(A) EPF (B) EPH (C) DpE (D) EOF
, ®
55. IS % ITE, 37 0, 1, 2, 3, 4 ) - A, B, C, D, E E0 ST ST ] | [(B + E) — (D + A)] T HH 31
dif)
According to the code, digits 0, 1, 2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of
[(B+E)-(D+A).
(A) 2 ®B) 3 © 1 D) -2
56.  f@e & uTelt He Far and 0 [
What will be the next number in the series ? <]
3,6,18,72, 360, ... ]
(A) 2160 (B) 1820 8

(C) 2180 (D) 1260

57. E:W%WWA,B,C,D,EWF&%%HT%HG@ D T f31e 2 ot £ w1 Rrar | F, Ediad
& 37w fReft 2 CUH I @ 3 A & e 2| ® 1 B, E & e e s 2 o
(A) ﬁ. (B) wmt ©

! 1 ples. D is a teacher and the
father of E. F is the grandmother of E and a hougewi ' 1 '
How is B related to E 9

(A) Mother (B) Aunt (C) Sister (D) Father
58. waﬁtmmwaﬂtml 0]
ferret w2 ofter €t vt | d
Ui 8 e R
(A) T B) M (©) @ww (D) dRw
59, ﬁnﬁfﬁgaﬁﬁaﬁqmwmaﬁ%? O
(A) w (B) ¥ (©) @m (D) =
60.  1ar 3 2o ek e et 3, AR A AR 3 0 ®
(A) oy (B) #emmT (C) gy O) wgwssa
R et e
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

m—y 'W-gmﬂﬂ”ﬁ&“"j%‘ '
g i @) @PL-FTE - (C) gely-I (D) wIreA e

(A) 3311%[_3?{"1

ﬁq%ﬁaﬁﬂmmﬁwﬁwﬁﬁ-m?ﬁ%? |

@) (B) © #m ©) T
e < T o T A IR 2

(A) o & T farT (B) 3179 Tl 1 S el

(©) el il g @ (D) 3T ST e B

T Y N G FE BT { Sr=T T STTCHHHT sjterer oy - T & 2

() T B) = (C) e (D)

fad s 3 o e ST QR e Rt 2

(A) TSI (B) oIS ”‘\J © semEE=E (D) _—
e i g e 1 e W et i
@ =T B TET 5 () whiegg D) 7@+ 7%
2019 7 AT FhEH GUEhR 8 TR ] fhar may 9

) e @) WIS (o) membn () wwie e

&)
I’ § HH-ET G B 2

A) fa (B) wEslife (C) s=wivE (D) e
S T T 78T T R -

(A) | FIR o el . (B) wEA 3wt arfvar R

(C) =Fard Bt [:;% (D) IATEYTSH T § WA 2T
frforaa & & et <o mmwﬁa@(' TR

(A) @™ (B) fmm - OFE (C) g (D) &t
-8 0t T 7T R 2 )

(A) T (B) 2 E! ©) a (D) 4
TamE fmd i wwEay: @)

(A) ¥WIMGET  (B) QUi @l (C) SITE el (D) 37Ut s[aehTer
fefelt e i ¥ sree v e SR 3 R wh e AT

(A) = (B) ¥ (C) et (D) I
ﬁw%mwﬁugﬁmﬁmﬁmﬁaﬁﬁaﬁmmﬁhmﬂﬁ%?

G — YHTERT, TSTH, ISTh, ferant ;;I

(A) T, 3T, 37T, 1 . EL:] (B) 3ATeh, T, ITTHT, 3T

(C) 3T, AT, 3T, vy (D) H, 3, AR, AE

Y& I 1 R iR | ()

______________
e e e m = - —

(B) wree e & i, et ot ot fear s
(C)__ T8 /A WIeeT 1 37R7 20 8 | & () ymemdTswgEamam _



76.

77.

78.

79.

80.

- 81,

82.

83.

84.

85.

86.

87.

88.

89.

(7.9, 903 94 TErTYT v12))

mmﬂﬁgﬂﬁaﬁaﬁ;ﬁ wﬁ_ﬂf (C) =, (D) T, ST
(A) H‘ﬂ’:gq Soraelt ST AT -

;ﬂ’; ®) o © (D) &

R ¥ Al SRS AR

(A) W i 3R S (B) ¥a & fahi rferat ¥ |

(C) WA H T SR E | (D) W et Siifer § |
fromaus g R

A) () ®) (1) ©) (,) (D) (-)

form R 3Tt w1 =61 sl ke & A ga 2 9

(A) =T, TH A | <] (B) 3r<a1® 7% andt s |

(©) g 3o fFar st o | [] (D) & T =g s d |
‘m'%wgz P ’

(A) To e (B) g=ta™ () (C) et fiayr (D) IF9H
ST 16 T AR o 2 9

(A) gt (B) = E;;j (C) 7 e gan (D) W =y
frffen P e ey

(A) & (B) ffy (©) & (D) =&

E R & A 23| A S d 0

(A) THFRETEE  (B) gmmradam (C) dfera adum (D) E¥T=g Sdum
‘mh—qumﬁa’m-@qmaﬁﬁm

(A) =5 - 3wy (B) 7@ - frex

(©) ﬁm@a%_aﬂ& (D) 3TE - Fee

(A) Tt 3 G oy ST
©) I aFr o2
ST T & gt o w5 v e et
(A) ®HEY= (B) U
ﬁwl%rﬁaaﬁﬁa?tm@rmﬁmﬁ#a‘f%?
(A) v (B) 37
mea‘lﬁf%:

(B) fo=e 5

<

L]
‘wmﬁw?ﬁ'm’—@ﬁﬁﬁmaﬁm:
L]

(A) for

(B) @ﬁ@‘ﬁmgﬂqm
(D) HFhe & W sr=ma 3 far i

(C€) Yum (D) gy
(©) Jyare (D) T=™g
(C) wfem (D) foa

ATt 3 FTe 3 Tt St 5 wrer @ P T i g T R, e e i v

ﬁﬂﬁwwmwﬁwwmm%:w 3feh ot e st 9t ra-are e v 1 A
G

----------------------------------------------------------------
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e s Aemnaat i B g

EICRIEACI R IR
76. “:;T;F B (B) ST, =Tt (©) T, 7w
{ »

, qatgaTs w5 I : .
77. (‘;" ;ﬁ“:j%q (B) ¥ (©) TR (D) iz
78, Frefafiad § 8 aTE o Y& T A 95T HIT ; )
. (A) TG | 3T ATfqAT & |
(C) YA HIF M|

(D) Twrem, stan

(B) ¥Ra & et st 3
(D) o & et s |

79. formEs R

(A) (:-) B) (1) ) () D) (-)
80. 0 T F ST ez o s fordew F i Hgan 2 o

(A) 3T, T WS | <] (B) 37=a51 & 7@ anft a7 <17

(C) T 71 T st sy | ] (D) & T g st

8l YT F T &% |

(A) T ®) Feram () ©) ww fay (D) TEwm
82. ‘IFTEA’ WeR 1 Tl w2 9 Eg

(A) get B) Fuw ) ©) Fdwmargsn (D) ¥ 7oy
83. oot # & e wreg i 219

(A) & B) s (C) &y (D) wz
84. ﬁmﬁﬁ%ﬁ@@%hlmwﬁﬁ-mm%?

(&) TR () AT IAH

(©) vy adqm (D) E¥T=T Fdur
85. *aﬂﬂa—a‘\rﬁa’m—‘@qmw%m%m

(B) TH - fr=

©) ferdes_amfy U (D) 3itE — Frorer
86. waﬁmw@w_mm%m;

(A)  THIeT 3T 9 orey Sy D (B) T Wireht qoay sheyry

(C) v & &l e o (D) ¥ & W st 3% few Hrery
87. 'ﬁﬁmﬁwmﬁ'%m@w@;

(A) HImET= (B) Ui (C) gurA (D) gy
88. ﬁn%ﬁgaﬁﬁﬁq-ﬁwﬁawﬁw%?

(A) T (B) 3fig (C) 3vaTg (D) W=
89.  HuTH F1 wfeae aret 2 .

(A) fmg (B) fasie % (C) wfem (D) foega
(9.9, 907 94 TTerivr way)
ﬁmﬁ%ﬁmaﬁtmﬁﬁmwmaﬁgmﬁﬁmwﬁéﬂaﬁ@wqﬁaﬁamﬁm%ﬂwﬁmﬁm

TR U R, fore 3 v g o # i g e et
b ﬁﬁ\aaﬂtm\%ﬂmq\aﬁﬁm-mﬁﬁamaﬁm



|
|

i
oy el 7 S ST | fh o e oy g AT S ST ©, T Fer T o gy

g,ﬁuﬁﬁwﬁﬁm"mﬁ“”gw[ﬁm_wﬁmmmmﬁméﬁnmﬁmm
%Immﬁﬁﬁﬂ%%gﬁwﬁ%ﬁtmwwm%Wﬁm%l
1 & 7 ;
Foraprer ot watror T FET S W &, e -
90. Wmﬂ T 3y wE = § it € |
&) v 3 STl T 2T TS T g |
© AR
D) it P i aftafd & TR |
frefe A B O T ey
o &Y aygar s T | (B) mfrﬁmaﬁaﬁﬁﬁamml
(A) WWW L) g Lx i _{h
© ﬁmqﬁugﬁﬁmqﬁ AT | (D) aigﬂaqﬁﬁww l
07, T o1 I TR SAehed S AR <k i gmfery viwe 2, =it -
(A) T for ) foredwes Tl @ T 3 | (B) SH&H)SCHSAE qH AT @I R |
(C) T S IR SRR T B (D) ﬁ%ﬁaﬁﬁmmﬁﬁﬁmﬁm%l
93. euwt fasmrya fiten A waife wEEUI G R ®)
(A) St & T o | (B) Tiiasfier Siia= =1 Yedma |
(C) e =t gty «fifaes fawm | (D) fta= = gairitor fammm |
94. WHE SiaH 1 WEATHL T & 8 Uk Thal & ?
(A) S-S 3T quf Tnfirea T ik (B) W @l o7 Former ek
(©) s St o et e (D) m%ﬁl];.anﬁqmﬁ@mm
95. @aﬁﬁﬁ@ﬁ%aﬁzs%mmﬁlzrféagsﬁﬁ%m%@ﬁmaﬁw@rﬂnmﬁmﬁm@ms%
T ST BT | ST 1 36 ol o6 T 2 N
A person sold a horse at a gain of 25%. Had he bought it fogs% less and sold it for T 732 less, he would
have made a profit of 36%. The cost price of the horse was ]
(A) %1,500 (B) % 1,800 (C) 21500 (D) ¥2,000
96. Ifz EXAMINATION % VCZNRMZGRLM ¥ &4 & w@m ST ®, 6 WRITTEN i foh Wohmt sheerg
feam S 9
If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM
97.

98.

U T H, A S 103 S A A 368 AW R | el et oe 2

In a class, Sambu is ranked 10t from the top and 36th frotp;The bottom. How many students are there in
the class ? :

(A) 43 (B) 44 (©) 49,2 (D) 47
K LRI 3MM, Lframad | N, KA 2, 5af O, MR AT | OFK A7 wu 3 2
(A) faam (B) =i (®)] a4 (D) agt

Kis L’s wife and M is L’s sister. N is the daughter of K, W?a{}e O is M’s mother. What is the relation of O
toK? =

(A) Father (B) Mother (C) Mother-in-law (D) Father-in-law



sjrer 7 ST W 91 e 6, 24, 120, 720, 3
9,
’ Find the next number in the series 6, 24, 120, 720, .. j

(A) 5400 (B) 5040 a ) 5440 (D) 5004
100, fré s e (aver) R ,3
Find the odd one out from the given series : :;5
486, 482, 478, 474, 472, 466, 462 .',,
(A) 474 (B) 472 (C) 478 (D) 466
101, wwso%ﬁamﬁﬁﬁﬁzsomﬁaﬁmm%mmtlﬂaaﬁﬁ%mmmv
(A) 4% (B) 6% ©) sH2 D) 753

A bus travels a distance of 250 kilometers at a speed of 50 kilometers per hour
to complete the journey ?

(A) 4 hours (B) 6 hours .---.](C) 5 hours (D) 7 hours
102. ﬁn%ﬁaawgmﬁqﬂwaﬁwﬁ%? ,ﬁ

What is the missing number in the following sequenje ?

3, 18, 90, 360, 1080, 2160, , 0 D

(A) 360 (B) 0 )(C) 2160 (D) 1080
103. @t & el s sy i 11, 39, 75, 119, %..:l

Find the next number in the series 11, 29.75. 119
(A) 181 (B) 191 “'(C) 161 (D) 171

104. 3 INSECT %1 JOTFDU, HOUSEFLY # IPVTFGMZ % & if RS {6 ST R, @ BUTTERFLY 2y

. How much time will it take

If INSECT is coded as JOTFDU, HOUSEFLY ag IPVTFGMZ, then BUTTERFLY wil] be coded as :
(A) CVUUFSGMZ (B) CVUUSGMZF (C) BVUUGMSG (D) GMGUUCVF

105. afe 95474 F KGFIF forarsman 2, 9 82143 g ST 9
If 95474 is written as KGFIF, then how will 82143 written ?

(A) JDCEF (B) JDCEE .Xo) JcprE (D) JCDEF
106. A, Baﬁtcwaﬁmmsoﬁﬁﬁm%m%Aﬁrngaﬂmmaoﬁﬁﬁm%wsaﬂrcaﬁraﬁw
N 70 foheliom R, o B A A 0 N

(A) 21 freimm (B) 20 fratamy i;:s(C) 17 forcom (D) 18 freiim
The average weight of A, B and C is 60 k. If thé: average weight of A and B is 30 kg and that of B and
Cis 70 kg, then what is the weight of B ?

(A) 21kg (B) 20kg (C) 17kg (D) 18kg

107. 40 ST1 61 0 FEH, 15 O ke Ter £ aiit |5 TH A Eer €, 3N S B AT At e 3| AT
%13 +ff O TE Wer ATt ot i GEr

In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

(A) 25 (B) 35 (€) 15 (D) 10

________________________________
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o a7 = e aveor % farfr= vt (@S T 1) 3 gyl 2, S A (T o (dreseeh) T s
108.

109.

R 3 R T A Y AT ST IR |

@WWW%M%W@%@%W%WWWWW@%%@iﬂﬁlWZO%
FHI ST T G, SRR GHeh i e fehereft ey vt et <61 sty 21 e = 2
(A) T4845F3 (B) T5254HU3 &% (C) 75892 Fle (D) %5500 F

The given pie chart illustrates the various spurces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phas ng Projects.
j

Gl

External Assistance
11,486 [

Market Borrowing
29,952

@l
To support the project with ¥ 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to
collect ?

(A) T 4845 crores (B) 5254 crores (C) T 5892 crores (D) %5500 crores

Y, x%tﬁiﬁ%ﬁhz%mﬁ%mﬁ:a ZHd R e, Yy Firafnie

(A) Iwqd (B) zfaorufim (C) IR-ufEm (D) fror.et

Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which direction of Yis P ?
(A) North-East (B) South-West (C) North-West (D) South-East

-.--—-.-—---——--———-—————-_.---_-__._--.-.-.--.._-.._---_—-__ _______________
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110.

frafafad mﬁmmmzﬁﬁm | |
Find the incorrect number in the following series.
1,12, 144, 1782, 20736

(A) 144 (B) 12 B4 s i .
111, 6 el 5 6 1ok 71 ot & g0, 08 T 3 e oy 3 o 3 3 1" STEhT 1 ST & T e
9
?A') T ®) |t © fom (D) g -
Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle.” How is the girl
related to the boy ?
(A) Sister (B) Mother - ) Father (D) Brother
112. 3 5l = 2for-afim & wew R, @ s e fea s
(A) ey (B) =fdfurufing ©) Iwufim (D) wqd
If West is replaced by South-West, then North will beyeplaced by :
(A) South (B) South-West (@) North-West (D) North-East |
13, ‘% EHRRe e vt R o e
(A) T (B) & Tmferet
(©) i g (D) Furiue greiet
Who wrote “The Scarlet Letter” 9
(A) Mark Twain (B) Herman Melville
(C) Washington Irving ) Nathaniel Hawthome
114, Wﬂmhﬁ%aﬁawmw%ﬁmﬁam% mmmﬁmmﬁﬁ"@w*mgﬁm%?
(&) Fe (B) Iw=mm ) P (D) %o
Which social media platform has a feature called “Streaks” to €ncourage frequent Communication between
users ? 9
(A) Snapchat B) Instagram %b) Twitter (@) Facebook
115, AT TS i TS et Ferey of 9 v
(A) T (B) e @) gy (D) weed
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore (© Kanchipuram (D) Maduraj
116, ﬁﬁa’@maﬁémsmwm%?
(A) u%ﬁﬁmnaésﬁﬁﬁ?ﬁqmmam .
(B) ma@whﬁ%ﬁ%ﬁmmmm R
(©) 78 g v ke 3 e s et oy FATR )
(D) =& faefra feereen wftfira e 2| 2
What does the Financial Stability Board (FSB) do O
(A) It provides financial support to developing cqutries.
(B) It manages the foreign exchange reseryes of f¥member countries.
(C) Itregulates interest rates for central banks wéﬁ)dwide.
(D) It ensures financia] stability.
GWZ23 "



1. it 3 ATS G & & HH T 4 7

Sifirehr qrgeHIoT et D) SAHar s==

(A) (B) j’fﬁ (C) ymeEd ECIG (D)

Who was chosen as the brand ambassador of GST ? _ B

(A) Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan (D) Amitabh Bachchay

118, frefertiaa & & H- v wig ST S & st o oy 20 .
A) FgaE  (B) NTEETE () R (D) R

Which among the following lines is a boundary between France and Germany ?

(A) K-W Line (B) 49" Parallel Line (C) Sicgfried Line (D) Senger Line
119. ﬁéﬂmnﬂﬁ%mm(mw)%ﬂw%whm%?

(A) e, T SR AN I AT [

@B) faRw iy 7]

(C) e []

(D) ST U TN WA Y

The Directorate General of Foreign Trade (DGFTY domes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Enterlﬁﬂes

(B) Ministry of External Affairs E]

(C) Ministry of Finance &)

(D) Ministry of Commerce and Industry

120. TV S o ST o T 91 0 3TTawas 2 9

(A) fafom (B) FEHNH T (C) WM (D) FXFam

Which element is essential for the production of El.}clear energy ?

(A) Silicon (B) Hydrogen (C) Carbon (D) Uranium
121. TS I 939 % fore et & sianiar arrar 2 2 E]

(A) TI<T= 52 (B) #yu

(©) ST () (D) Tiem-ggTm

NOIDA comes under which district of Uttar Pra@gh ?

(A) Bulandshahar @ o} (B) Mathura

(C) Ghaziabad - ®) (D) Gautam-Buddha Nagar
122. oy <re e svm wemm ST 2 2

(A) 33N (B) 15 T (C) 10 7T (D) 9 aTH

When is World Post Day celebrated ?

(A) 3" October (B) 15" October 0 © 10" October (D) 9™ October
123. 2024 TF T REACA R I HFAR? (]

(A) THEE ®) wEefe ] © P (D) i e

Who heads the Union Ministry of Home Affairs as)of June 2024 ?
(A) NarendraModi  (B) Rajnath Singh (7) (C) Nityanand Rai (D) Amit Shah

124. 3T e i oy v o ad i g€ oft 2 E}
The Indian National Congress was founded in wl@ﬁh year ?
(A) 1905 (B) 1947 (C) 1857 (D) 1885

----------------------------------------
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125. ST o1 96 ST STSST el T feorq o 2 p
(A) WEE (FT) o) ®) 3
(C) fee _ 0 (D) T (hiethidr)
Where was India’s first airport located ? E}
(A) Madras (Chennai) [[] (B) Bombay (Mumbai)
(C) Delhi Db (D) Calcutta (Kolkata)
126. WRa & sqadri & forg, §amefl 2, GSquﬁw%%qaaﬁ-g%ﬁz(;ﬂqnm%o
(A) T20@ (B) TS0T@ (C) T5T™@ (D) T109E
What is the threshold limit for GST registration for businesses in India, for services ?
(A) T20 lakhs (B) %50 lakhs l (C) T5lakhs (D) %10 lakhs
127. ﬁmﬂm@mﬁ?ﬁaﬁﬁ@ﬁﬁ?ﬁaﬁ ¥ T IF G Y THFR T AT A9 HEIL FH
i O i weE O R R s 2 | Ei _
(A) = fofRim (B) Fefwfim i (C) VPN (D) fafyim
uses images with malicious files in t]tﬁil, meant to help a hacker steal your account information
or infect your computer. o2
(A) Image phishing (B) Catfishing @ (C) VPN (D) Smishing
128. FCRTT TR T UL #4182 |
(A) Wi e (B) SHEM® (C) STiE (D) TREH
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik [[] (C) Zagreb (D) Amsterdam

129. mﬂmﬁﬁ@mmm%aﬁsﬁ&wéﬁam% ?
(A) aaammwmﬁaﬁgtmqﬁ%ﬁwaueﬁﬁ a1fre wTEh & & G F § gerdT e |
(B) TgSIM H A EEHi dgan @l ()
(C) % HArehTRE! T Eifera Gadl mﬁmﬂﬂmﬁmm% I
(D) T8 BT Y ST I HTd FE1 € | @
In what ways does information sharing become important in fighting terrorism ?
(A) It allows terrorist organizations to coordinate attacks more effectively through security agencies.

(B) It improves relations with other countries.
(C) It allows authorities to identify potential threats more quickly.

(D) It strengthens the military’s capabilities.

130, TG 3 P STl 29T Y gt S bl i 3 AT & ST S e ?

(A) HIER (B) M (C) AU (D) e
Which of India’s neighbouring country is known as the “Land of Thunder Dragon™ ?
(A) Myanmar (B) Bhutan (C) Nepal (D) Bangladesh



131, Frefefaa & & SF-ar are Hean ewH T2t 2 o

(A) UM

(B) T (€) (D) EgF

Which of the following is not a Social Media[Eatform 2

< (A) Instagram

(B) Google <] (C) Twitter (D) Facebook

. N
132, Frefeifiaa 3 & fa o 1 S0 o () e 2

(A) RIS

Which of the following types of pollution is_
(A) Soil pollution (B) Water pollutlmﬁ_

®
133. 1946 % 0T % SR RBI & T $1 § 9

(A) 3awa

(C) Teamor gAY

(B) WA D . o wafy wgm (D) Fea wgwm

ultural (accelerated) eutrophication ? .
(C) Noise pollution (D) Thermal pollution

(B) wiftheria arg

_ (D) <. geawm
Who was the Governor of RBI during the demonetiz

(A) Urjit Patel

(C) Chintaman Dwarakanath Deshmukh

ation in 1946 ?
(B) Shaktikanta Das
(D) D. Subbarao

134, ﬂﬂ?ﬁuﬁﬁuﬂm@qmwm%ﬁﬁrﬁ%mﬁg@ﬁam%?

(A) w IV (B) wWmv & (© wmn (D) W III
Which part of the Indian Constitution deals wi{th the Directive Principles of State Policy ?
(A) PartIV (B) PartV 0 © partn (D) Part III

oS

135, Tere Qs et e gw foredt rd o 0 @)
(A) AT Yow (B) ¥dehia frardt Frrem
(C) weEred ant (D) frﬁr(-ﬁsmgn
The book ‘A Life Misspent’ was written by whom ?

(A) Jawaharlal Nehru

(C) Mahadevi

(B) Suryakant Tripathi ‘Nirala’

Verma (D) Maithilisharan Gupt

136, STTemT & Ferm 1 e Fmo %I

(B) vad ST T Fehioi (e

(A) a@%mﬁmqﬁ%mmﬁm@@m
O

(©) v aoy i Jufeufy
(D) 3T & T ek webrar st v ol
The main reason for the blueness of the sky is®)

the scattering of sunlight by air molecules

(A)

O

(B) the scattering of white light
(C) the presence of water vapour
(D) the absorption of blue light due to the air

137. Wﬁwm,mmaﬁﬁmﬁw,%ﬂ@aﬁaﬁﬁ?

(A) forre (B) =@ fm (C) e () e

Raman Subba Row, who passed away recently, was associated with which sport ? )

(A)_Cricket (B) Table Tennis (©) Football (D) Hockey
G



138. Wﬂﬁmﬁmﬁwﬁﬂmw%q
(A) TeEd '

. (B) (C) wemdl (D) T
What is the name of the longest river in Peninsular India ?
(A) . Godavari (B) Krishna (C) Mahanadi (D) Narmada
139. NHRC #1 v &q ar 2 9
(A) m@aﬁﬁﬁmw’m [
(B) et T e shnfvar, s :
(©) AT T Trgew Frive, S [.
(D) et —IFH Tz efte, S :
(

What is the full form of NHRC ? s
(A) National Humanity Rights Commission, Indja.
(B) National Human Righteous Commission, I:El_;
(C) National Human Rights Commission, India -!)
(D) Natural Human Rights Commission, India

140. = 1985 i -8 i o st e o 9
(A) o= (B) wieer ©) 3w

" TP £ a2 R._F

LV

(D) FT
The year 1985 was declared as the International Year of
(A) Children (B) Women _(©) Blind (D) Youth
141, mgam%ﬁﬁmmaﬁfﬁnﬁ%m[ﬁ] AR T I T A A1 7 i1 39 T et i
HETIAT T | ]
(a) fubm [;J (B) TUITcH
(C) M (~y(D) FTE
research methods allow for in-depth :Tﬂ further probing and questioning of respondents based
on their responses. (&3]
(A) Mixed (3(B) Qualitative
(C) Action

(D) Quantitative
142. BRIFT QUi &R ?

(A) e i e shfimfea (B) st Ug Tre sffmefes
(C) e Ug fdid shfimfea (D) o U fafser s
What is the full form of BRI ?

(A) Belt and Road Initiative |(B) Basic and Road Initiative

[-—](D) Belt and Republic Industry
fafire saferet 1 e s o1 e <6 et 3 erert < e v & Rk R Fm R €
(A) @i (B) fora ffim ()(C) wme =it (D) whfer

tries to trick specific individualsl.irlto jeopardizing the security of the organization they
work for. edd

(C) Belt and Resource Initiative

143.

(A) Spamming (B) Spear phishing G='3)(C) Cyberstalking (D) Snea_k_i?? _______________
GWz-24, T Page21of24



144,

e A Tt gpfy Afe s A A < 2

D) | 2002

A) T 2004 (B) SHaL 2004 (C) S 2000 (D)

i\’hen was the first ever National Agriculture Policy announced ? D) March 2002
(A) March 2004 (B) January 2004 (C) July 2000 (

. ol ﬁmmﬁWW%W%mqﬁwmﬁwmﬁﬁﬁﬁwm

gftwg gr wiawenfoa famam mar |

The United Nations Commission on Human Ri
Council for the enforcement of internationa by,

(A) 2006 (B) 1998

ghts was replaced with the United Nations Human Rights
nan rights law in the year

W (C) 2000 (D) 2001

146. aﬁw%m-waﬁgamﬁmémmﬁﬁaﬂqﬁ? [ :]]
(A) T (B) e gy +2(C) Shm R (D) WE=H
Who is the first person to run across Africa ? (_‘_ )
(A) Sisay Lemma (B) Kenenisa Bekele [‘] (C) Dennis Kimetto (D) Russ Cook
nd
147. mﬁmm%wﬁmw'%@ﬁ@m%mmh%mmmﬁﬁ
"R 2
(A) =R O RELSICH ©) Irwmfrem (D) uifsream
The Indian Agricultural Research Institute has demanded legal action against which country for cultivatine
basmati varieties protected in India ?
(A) Myanmar (B) Bangladesh [ .](C) Afghanistan (D) Pakistan
148, FH-41 Wi Ty 3Ot St ey ﬁ-ﬁm%fiﬁmm%?
e
(A) TemTs (B) TSTEImH t_":; ©) waEwRy (D) 3fifemm
Which Indian state is known for its unique ‘Warlil. p]aintings ?
" (A) Maharashira (B) Rajasthan (34(C) Madhya Pradesh (D) Odisha
()
149. ‘ﬁm&’wmmﬁsﬁ%ﬁmﬁmﬁfmm%%ﬁwﬁﬁm ?
(A) dETs (B) uer (C€) s (D) Inorey
“Chikankari» is a traditional embroidery style that originated in which city of Uttar Pradesp ?
(A) Lucknow (B) Noida [ 1© Prayagraj (D) Varanas;
150. EmmTRy STATHT 1 rerfiver s 2 [
(A) VIS &1 CO, it arargim 0t (B) e e o
(©)  ITive gty QT \ (D) WSS ok AT afe
What is the Primary cause of ocean acidification 1 l ‘
va S
(A)  Absorption of CO, by sea-water E ; (B) Oil 5[“”5_
(C) Overfishing (D) Increase in sea-water temperature
GWEZ, s e

Page220f24 = TTTTTTese-



